
Ekgkjk.kk izrki egkfo|ky;] taxy /kwlM+] xksj[kiqj 

Nk=la?k izfrfuf/k lwph&2023 

fo’k; ikB~;Øe@lsesLVj Ukke eksckbZy ua0 Pk;udrkZ f”k{kd dk uke 

 

jlk;u ”kkL= 

ch-,l&lh- I Jh fo|klkxj fu’kkn 7084302212 MkW0 f”kodqekj ouZoky 

ch-,l&lh- III lqJh iYyoh feJk 7985212367 fnO;knqcs 

ch-,l&lh- V Jh iadt pkSjfl;k 6392377693 MkW0 vkj- lgk; 

 

xf.kr 

ch-,l&lh- I lqJh Js;k jatu 8858750077 JhJhdkUref.k f=ikBh 

ch-,l&lh- III lqJh dqlqe pkSjfl;k 7007757288 Jh iIiwdqekjxqIrk 

ch-,l&lh- V lqJh lk{kh xqIrk 8853787959 Jh JhdkUref.k f=ikBh 

 

HkkSfrdh foKku 

ch-,l&lh- I fo”kky “kekZ 7268902173 MkW0 vfHk’ksdoekZ 

ch-,l&lh- III lqJh f”kokaxh jatu 9555506257 MkW0 vfHk’ksdoekZ 

ch-,l&lh- V Jh vk”kqrks’k flag 7054737172 MkW0 vfHk’ksdoekZ 

 

izkf.k foKku 

ch-,l&lh- I dq0 vafdrk 9118714844 MkW0 vkj-,u- flag 

ch-,l&lh- III glhuk [kkrqu 7068499155 MkW0 vkj-,u- flag 

ch-,l&lh- V dq0 f”kYih flag 7080231842 MkW0 vkj-,u- flag 

 

ouLifr foKku 

ch-,l&lh- I lqJh nhikxkSM+ 8957845354 MkW0 vHk; dqekjJhokLro 

ch-,l&lh- III lqJh vkadk{kk “kekZ 7388849090 MkW0 vf[kys”kdqekjxqIrk 

ch-,l&lh- V lqJh eqLdku ik.Ms; 9554855653 MkW0 vfHk’ksdxqIrk 

 

dEI;wVj lkbal 

ch-,l&lh- I Jh fo|klkxj iztkifr 7007343959 JhlwjtfeJk 

ch-,l&lh- III lqJh vatyh nqcs 9935997803 Jhfiz;ka”kqJhokLro 

ch-,l&lh- V lqJh usgk “kekZ 7754072309 JhlwjtfeJk 

 

Lkakf[;dh 

ch-,l&lh- I fjDr &  

ch-,l&lh- III Jh “kqHke dqekj flag 8887874686 Jhdkyh “kadjik.Ms; 

ch-,l&lh- V fjDr &  

 

fgUnh 

ch-,-I lqJh usgk 7080835381 MkW0 lq/kk “kqDy 

ch-,-III lqJh vkd̀fr ekS;Z 8318817678 MkW0 vkjrhflg 

ch-,-V f”koe xqIrk 7860342304 lqJhf”kokuh flag 

 

vaxzsth 

ch-,-I JhnsodqekjpkS/kjh 6290330637 lqJhf”kokuh flag 

ch-,-III f”koe xqIrk 7860342304 lqJhf”kokuh flag 

ch-,-V Jh f”koe dqekj 9026118071 lqJhf”kokuh flag 

 

jktuhfr foKku 

ch-,-I LkqJh liuk Hkkj}kt 8808583640 JhvfHkuo f=ikBh 

ch-,-III lqJh fuf/k flag 9580437710 JhvfHkuo f=ikBh 

ch-,-V lqJh vaf”kdk xqIrk 9569903731 Jh vfHkuo f=ikBh 

 

bfrgkl 

ch-,-I Jh eksuh fu’kkn 9005140326 Jhvuwidqekjik.Ms; 

ch-,-III LkqJh “khyw feJk 7054970992 JhmisUnzef.k f=ikBh 

ch-,-V Jh Hkkuqizrki flag 9123475220 Jhvuwidqekjik.Ms; 

lekt”kkL= ch-,-I lqJh T;ksfr iztkifr 8853144360 MkW0 guqekuizlknmik/;k; 

ch-,-III lqJh euhrk 8787096643 MkW0 guqekuizlknmik/;k; 

ch-,-V lqJh dkE;k “kekZ 8957246663 MkW0 Hkkoukik.Ms; 

 

izkphu bfrgkl 

ch-,-I lqJh vuh”kk dqekjh 9076934372 MkW0 lqcks/k dqekjfeJ 

ch-,-III Jh vk”kh’k dqekj ik.Ms;  MkW0 b{okdqizrki flag 

ch-,-V fjDr &  

 

vFkZ”kkL= 

ch-,-I lqJh tkfgnk [kkrqu 9580357213 MkW0 eats”oj 

ch-,-III lqJh bZ”kkxqIrk 9161253275 MkW0 eats”oj 

ch-,-V fjDr &  

 

Hkwxksy 

ch-,-@ch-,l&lh-I lqJh T;ksfr xqIrk 6387790525 MkW0 fot; dqekjpkS/kjh 

ch-,-@ch-,l&lh-III Jh vkyksd pkSgku 7651937705 JhvjfoUnzdqekjekS;Z 

ch-,-@ch-,l&lh-V lqJh iwue ;kno 9336132855 MkW0 “kkywJhokLro 

 

euksfoKku 

ch-,-@ch-,l&lh-I Jh izHkkdj jkt 8917730041 MkW0 vHk; izrki flag 

ch-,-@ch-,l&lh-III lqJh vfpZrk 9555506257 MkW0 osadVjeu 

ch-,-@ch-,l&lh-V fjDr &  

 

j{kk v/;;u 

ch-,-@ch-,l&lh-I Jh vkyksd flag 9555623960 Jhfoosddqekjfo”odekZ 

ch-,-@ch-,l&lh-III lqJh izhfr flag 9580437710 Jhfoosddqekjfo”odekZ 

ch-,-@ch-,l&lh-V fjDr &  



 

 

 

 

 

f”k{kk “kkL= 

ch-,-I lqJh dqedqe f=ikBh 9580953481 Jherhiq’ikfu’kkn 

ch-,-III lqJh izhfr fo”odekZ 9956478215 Jherhiq’ikfu’kkn 

ch-,-V lqJh fizfr pkSgku 9369061576 JhftrsUnzdqekj 

 

x`gfoKku 

ch-,-I lqJh vatyh yrk 8953569674 lqJhjhfrdk f=ikBh 

ch-,-III lqJh oanuk pkSgku 9795134863 MkW0 nhif”k[kkukxoa”kh 

ch-,-V lqJh vafdrk fu’kkn 9956664824 lqJhLèfr flag 

dEI;wVj 

vIyhds”ku 

ch-,-I lqJh va”kqdqekjh 6388829079 JherhvfiZrk flag 

ch-,-III JhlfpupkSgku 8081490584 JhlwjtfeJk 

ch-,-V fjDr &  

 

okf.kT; 

ch-dke-I Jhoa”knhijk; 8574787118 JhuUnu “kekZ 

ch-dke-III lqJhlatuk flag 8052635119 Jhfl)kFkZdqekj “kqDy 

ch-dke-V lqJheerkxkSM+ 8756558020 lqJhlk{khpkScs 

 

“kkjhfjd f”k{kk 

ch-,-I fjDr & MkW0 ,l0,u0 “kqDy 

ch-,-III Jh d̀’.kkfeJk 8318525021 MkW0 ,l0,u0 “kqDy 

ch-,-V fjDr & MkW0 ,l0,u0 “kqDy 

ch0,M0 ch-,-I fjDr &  

ch-,-III iwtk e)sf”k;k 8953349636 JhvfHk’ksd f=ikBh 

 


